run_13064055 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 4 15:41:51 2012
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run_13064055 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13064055 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 4 15:44:49 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sun Mar 4 15:41:56 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

[ 1000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=0,APV=8 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
of=—
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«

% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o fE—su
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

m....a . .J . WA L3

10

10

10°

10

10




run_13064055 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 4 15:44:13 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

1500 [+
1000 [5

500 |+

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 4 15:44:50 2012
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run_13064055 FGT ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Mar 4 15:42:00 2012
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run_13064055 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 4 15:44:14 2012
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run_13064055 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Mar 4 15:44:52 2012
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run_13064055 FGT ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Mar 4 15:42:04 2012
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run_13064055 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 4 15:44:16 2012
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run_13064055 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Mar 4 15:44:53 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 4 15:42:09 2012

[ADC for FGT RDO=1,ARM=1,APV=0 } [ ADC for FGT RDO=1,ARM=1,APV=0 |

= 4000 p—
5] =
i =
Q 3500 f=— - -
< =
3000 f=—— - -
= 10
=
2500 = - -
=
2000 f=— - -
=
1500 f=—— - - a
1000 p=— - -
=
500 f— - -
=
=
ofE==s -
= i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=1 } [ ADC for FGT RDO=1,ARM=1,APV=1 }
4000
H = - - - - - -
Q 3500 f— - -
< =
3000 f=—— - -
2500 fm— - -
= 10
2000 f/— - -
=
1500 f=— - -
=
1000 p=—— - -
= 1
500 f—
=
=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=1APV=2 } [ ADC for FGT RDO=1,ARM=1,APV=2 }
|
L - 4000 p—=
3 g = . . . . . .
& g = 2 2 2 2 2 2
%) =
g Q 3500 f=
< < =
3000 f=—
= 10
10? 2500 = o
=
2000 =
=
1500 f=——
= 1
1000 fP=—
=
500 f=—
=
==
= 1
: = i i i i i i 10
0 1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 } [ ADC for FGT RDO=1,ARM=1,APV=3 |
- 4000 p—
5] =
g =
Q 3500 f=—
] =
< = 10
3000 f=—
2500 =
2000 f=—
= 1
1500 f=——
1000 f=——
=
500 f[=— .
= 10
ofE—
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=4 } [ ADC for FGT RDO=1,ARM=1,APV=4 "}
.- 4000
2 2
& 10
9 3500
<
3000
2500
10
2000
1500
1000
1
500
0
0 1000 2000 3000 4000
raw ADC APV channel



run_13064055 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13064055 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Mar 4 15:44:55 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 4 15:42:13 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

In=

imeb

Sun Mar_4 15

run_13064055_FGT_MPV_1,T

18 2012

44

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13064055 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Mar 4 15:44:56 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13064055 FGT ADC 1,Timebin=2,Disc=2,asmb=2AB

Sun Mar 4 15:42:15 2012

[ ADC for FGT RDO=1,ARM=1,APV=12 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1ARM=1.APV=13 ]
|

0 1000 2000 3000 4000

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=15

0 1000 3000 4000

raw ADC

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
E
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
Q e e R L e T R P T PR TP PP PP, ST
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e S R PP E TP PP PP SR
=
1500 P e = = e s
=
1000 P s = = e e el
=
500 f=—|- - - EERREE
=
L L T TSRS PTLS SOUTEESPPR SRS SSTPRE S SUPSESPE PRTSPRTSTRRSPRPRE ETPPet
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°TI[I'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. A . d . ) e N

10

10

10

10

10




run_13064055 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 4 15:44:19 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 4 15:44:56 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

100 F-

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

1
120
APV channel

= F—
g
9]
o
)
12}
=
z
[—
=
0
[ ADC RMS for RDO=1,ARM=1,APV=14 "}
g
& 80 -
[a}
<
5 70
=
o

60

50

40

30

20

10

i
120
APV channel

°'IHI]I‘H‘I-]+H+I-I‘E! TTTTFFTE TIH[HI

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

100

80

i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

120 |

100 [r
—

80

60

40 &

20 [

APV channel




run_13064055 FGT ADC 1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 4 15:42:20 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

0 1000 2000 3000 4000
raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

o =5
2
[
¥
10?
10
1
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=20

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

" 1
60 80 100 120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - -
% =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - -
=
2000 = B
=
1500 =+ - - - - - - -
1000 p=—|- - --- - - -
=
500 f=— e - - - e e o
=
=
=
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =~ - 4= - or e s ee e p e e s
= 8
[0 i B R R PR PR R B e
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. ES.d Eo.d . .

10

10°

10

10°

10




run_13064055 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 4 15:44:20 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 4 15:44:58 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

120

100

80 |+

60 [r

40

20 p

TTIITH

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

40

20

T

°'I'I'I]TI'I'|'I'

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

100 [

RMS (ADC-ped)

100 [+

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

100

APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 4 15:42:24 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }
|

3000 4000
raw ADC

1000 2000

[>]
<]
&

or FGT RDO=1,ARM=2,APV=3 l

= ADC-ped

10°

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=4 l

5
g
o
e

i i
0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

o =
] = 5
o = :
Q 3500 |- - {1 f - EESE B EYERE | EPEEER] | PRy PR PP
< =
3000 =t A= 1= 1 f - EEEE B EUERE | EPR TN | SEPEERE PR P EPT 10
=
2500 =g+ - 1=t - o50i|e|iepeaqpagess|fiZooecagesfpeossese
= .
2000 f=t—|- - 4= 1< f -0 - 1 SEEE Y B EEE | EEE EER 1 SRR EE R
= 8
1500 =t—|- - 1= -} ---- cdollallaposdlallocalEacansdsalbeszonaa 1
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR
= 2
oy = I N U B JREUN I R R ) A OO B
= i 5
ra— . " t
[ = = S = e el e s 10
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
- 4000 prr 10
g = 2 2 2 2 2
Q 3500 f— -
< =
3000 f5— -
=
2500 f=— - 10
2000 fF— -
=
1500 f— -
=
1000 p— - 1
L
500 =
=
0 f— 4~
b= . . . . i . . i . . i . . i i .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
- 4000 py 10*
@ = 0 0 0 0
g = 2 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
2 =
3000 [l - {-{-}-F-f -2k -t-
H
2500 pE—-A-{-1-}-F-F 424 F---- - t- 10
=
2000 [ “{-t-r- SLELEIE
=
1500 B 4-1-1-f-r-F -4 1f--F----- o=
1000 B - 1-1-f-r-F -4k == 1
L
OV = O B X Y S O FRE | PR PR adhs
=
o -1- - S
= i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] =
o = 2
Q 3500 F= - 10
< =
3000 = |- 1~
2500 = - 1-
2000 f=r— - 1+ 10
=
1500 = -
1000 P=— - 4 -
=
500 f=— |- 1+ 1
=
o fE—-1-
=
=
0
APV channel
| ADC for FGT RDO=1,ARM=2,APV=4 I
- 4000 p - - - - - '
Q = 10°
9 3500 |- - - - - - - N EEEET EEE B LR RS T H RS SRR T CEEE EETE
2 5
3000 |- - - - - - N EEEET EEE) B LR RS T H RS SRR TS CEEE EETE
2500 - - - - - - dbacacloac|ldbadpdescdca abdbeocallosabasdeacllcsasa
E 10
2000 =]+ - - - - - - B PR CERY B T AR PP B R R EPPE PR
=
1500 pH—|- - - - - - - H EEEEY EEN EEEE RS P B e s Gk T
H
1000 P |- - - - - - N EEEEY EEE) B LR RS T H TS SRR TS CEEE EEEr
H 1
500 pF—|- - - - - - - H EEEET EEE B S LR RS T [ R EEN s CEEE EETE
=
(0] == - o it B A i B o R e o e ) L s e
Bl . . . i . i . i . i i .
0 2 40 60 80 100 120

APV channel



run_13064055 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 4 15:44:21 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Mar 4 15:44:59 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

140

120

100

80

60

40

20

0

S H'I"I'TI|1'I'I'[I11'|'I'H|

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

90

80 p—

70

60 |

50 =

40

30

20

10

0

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

100

80

60

40

"I'I'1'r'|'l'l'1'['l'

il
—

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

120

100

80

60

40

20

120
APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar

4 15:42:29 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

k=1
@
5
8}
EY
10

10

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }
|

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

-
2 5 3 5
[

Al
<

3000 4000
raw ADC

0 1000

[ADC for FGT RDO=1,ARM=2,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
= 4000 py
5] =
i =
Q 3500 fF— - {---tescf e as b
< H
3000 fF—--q-cctescfofe g iepeie
=
2500 fF—--q4---t---ff--a---ope-e-e-
=
2000 pF—--q-c-temcf ol oA iepeie
=
1500 fF— - - {- - -t - -} - RPN
2000 P— - - -t e sl e
= 2
= 2
59| Ei=cclsachesdbdbedecoslbacacas
= 2
= 2
o e ¥ S -
H i
0 20
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=6 }
- 4000 p—
g = 2 2 2 2 2 2
é 3500 ;—
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 p=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=7 }
- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r- -
=
U=
= i i i i i i .
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=9 l
- 4000 p— - - - - - -
o =
9 3500 =
< =
3000 fm=—
2500 [=—
=
2000 fm——
=
1500 f=—
=
1000 f=—
=
500 f—
=
==
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

.. 4 mo...Jd E..d E.d ..l

10

10

10

10

10




run_13064055 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 4 15:44:23 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Mar 4 15:45:01 2012

[TADC RMS for RDO=1,ARM=2,APV=5__}
=) 140 F—
3 =
8’ —
2 120 f—
z 100 f—
80 f—
o fo—
w0
20 f—
1‘:
'
[ ADC RMS for RDO=1,ARM=2,APV=6 }
= 100 f—r- - s O TR T {Fcocoooo505050505555559 {Focooccooooooooooooo00g FEECEECEECEEECEEEEEEEEE EECECEED
2 . . . . . 8
& o
a E
< -
& o f
=
x
60 [r
w B 5 Fariie 5 RN » RO s
wf : ; 2 F SRR | I [SERRERE IR e b
0 i
120
APV channel
[ ADC RMS for RDO=1,ARM=2,APV=7 }
Z TE
g 80 /—
<
g 70 p——
o

60

50

|HII|'IHI]IHI |

ittt i

40

30

20

10

0

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

70

60

50

40

30

20

10

APV channel




run_13064055 FGT ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 4 15:42:33 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13064055 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 4 15:44:24 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 4 15:45:02 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13064055 FGT ADC_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 4 15:42:35 2012

[ ADC for FGT RDO=1,ARM=2,APV=17 |

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=2.APV=18 |

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

3000 4000
raw ADC

0 1000 2000

[ ADC for FGT RDO=1,ARM=2,APV=20

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=.

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

" 1
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L LN LA A L LA K AL il

[[ADC for FGT RDO=1,ARM=2,APV=20 }

4000

60 80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© FTFTFATFAT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
=
=
rm
=
=
0

APV channel

... .4 .4 ... .08

10

10

10

10

10°




run_13064055 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 4 15:44:24 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 4 15:45:02 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

300

250

200

150

100

50

OFFFFFFFFFFITIT IO

0

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

120 == eI L e e LS e e

1
120
APV channel

[CADC RMS for

RMS (ADC-ped)

90 b=
80 =

70
60
50
40
30
20 -4 --
10 ﬂ

0

i
120
APV channel

RMS (ADC-ped)

100 p==v=r I eI er eI TTTTTT T T T s eI TTTTTT T s s e e e e TTTTTT T s e e T e L R

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

i
120
APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 4 15:42:39 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4DA

4 asmb

iIsc=

2,D

In=

imeb

Sun Mar_4 15

run_13064055_FGT_MPV_1,T

125 2012

44

TARM=3,APV=0_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13064055 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 4 15:45:03 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 4 15:42:41 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

2000 3000 4000
raw ADC

1000

[ADC for FGT RDO=1,ARM=3,APV=8 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B 0 L L L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

80

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9

40

60

80

120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

i IE RN ARG RN AR RGN G AT RN AR ATENATRNAT]

APV channel

.8 . d e E.d B

10

10

10

10°

10




run_13064055 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 4 15:44:25 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 4 15:45:03 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

50 [

40 [

RMS (ADC-ped)

30
20 |

10

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

50

RMS (ADC-ped)

40

30

1'I'I'[I il '|'I'I'I f | TTT

20

=

10

SEIITTETET

. . . . . . . . . . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

50

40

RMS (ADC-ped)

30

8

20

10

°HHEHH 'I'.’.'.I]'I'I'H]'I'I'H]TI'I

[CADC RMS for RDO=1,ARM=3,APV=8__}

50 [+

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

= — .
3 — . B
8‘ — H
Q S e T i T e il LSS fomancs
@ = :
= = :
z | =co0o00c0000acacacadhassasssssasaaasacasandhosssasaaaaanasanssscodboasananacnnsnasssssacdhacacnnanasasesasanasadhoanssnsosssacanaaacang 8000000
[— 5
e L PP PP PP PP REETEPR
B |/=—=rcoo000s000a008000dR0500530080000008005300009000803530080030003085300800300030053003004 L L L L L LR L L, o LLLELLLELLELLEELLELLEE <LLELLE
B o LT L R TP PP PP PP PR EP PR R TP P P e
o = i i . i i i i
0 20 40 60 80 100 120

APV channel




run_13064055 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB

Sun Mar 4 15:42:45 2012

[ ADC for FGT RDO=1,ARM=3,APV=12 |

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=3,APV=13 _§

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1.ARM=3.APV=14 ]
—

2000

3000 4000
raw ADC

H
0 1000

[ ADC for FGT RDO=1,ARM=3,APV=15

1000 2000 3000 4000
raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

=

= i 1 i I i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=13 "}

- 4000 p—
5] = . . H 5 5 g
5 =
9 3500 fm—--q--- -
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 P=— - - 4=+ - - -
=
500 fm— s - - -
=
0 [E= s graeas
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— .-
2 =
3000 f=— .-
=
2500 = .-
=
2000 = 03
=
1500 f=—— —e-
1000 fP=—— —e-
=
500 f=— e
=
oE—
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
0 o
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. . d L L

10

10

10

10

10




run_13064055 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Mar 4 15:44:26 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=1,ARM=3,APV=14 |

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i
100 120

-500

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500

[ ADC MPV for RDO=1,ARM=3,APV=16 }

i
120
APV channel

20 40 60 80 100

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

100 120

APV channel

20 40 ) a0




run_13064055 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 4 15:45:05 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

=
g
4}
a
<
0
=
# = @9|E==ccoscoosas|loscosadhzaasassansconacasadb|idhacsconaaifdbasassanscadhaszaasasdfdbeosacacaadhasansconacasaal@eacadbifgme[lcascacsconacacdhsassans
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=13 "}
= =
3 —
3 B|==
a
<
0
= 40
e E
30 f—|
=
=
—
0 f—
o = i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=14 "}
=) L—
3 =
o 50 f——
o —
< —
I L
& a0 f—
30 } ----------------
e O e 1 AT
= 5 5 R N A =
= i
0% 20
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=15 |}
=
g
4}
a
<
0
=
©
) |i5—==25||j|od5toc0s0a00ho00a
L e
=
® 0
APV channel
| ADC RMS for RDO=1,ARM=3,APV=16 }
=
g
[}
a
<
0
=
@

20 40 60 80 100 120
APV channel




run_13064055 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 4 15:42:49 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13064055 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Mar 4 15:44:28 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 4 15:45:06 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 4 15:42:51 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0 |

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

éDCAped

10?

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

2000 3000 40(
raw ADC

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=4,APV=1 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

i
120
APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=2 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1
120
APV channel

aEldENNTERIAGNATGRAARNAIGRARRIATENATRNATENAG]

[[ADC for FGT

RDO=1,ARM=4,APV=3 }

ADC-ped

4000

3500

3000

2500 f=

2000

1500

1000

500

0

80

120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

120
APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.41 ... J ... 4 .40 .8

10

10

10

10

10°



run_13064055 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 4 15:44:28 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500
Q

20 a0 0 a0 100 120
APV channel




run_13064055 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA

Sun Mar 4 15:45:06 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

160
140

120 =

RMS (ADC-ped)

100
80
60
a0 =

20

0

[ ADC RMS for RDO=1,ARM=4,APV=1 }

B 120 B

2 [—

(6]

2 ]

< 100 -

12} b—

=

z :
80 |

60 F

40

20 [

0

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

1
120
APV channel

= — 5
@ b— .
3 :
8 100 [— :
< = :
P [— :
2 — 5
@ & |E==cc0000dHbocalllfrocodroscscscoccoscoccoococdpococooococonnoocanooagposcacasacadb|bocacscscdrodbooococconcocddboostoscoconoooco00cagapaca Fococoos
[ R RRREE  AEPPE F PP  EEPPEEEERPS | PEPPPPRRECRRE o | Lx PEPPPPEPPRRREFCIRETPRPES P B | S F § § PR & PR | BEF § ARPPUPRE N SEFRRRE ) PPP & R e
[ :
40 f—--vnn- EEEEE P TP PR £ B P ¥ ORREH I A PP F X SRR B SR P 3 3 Y S Y X B AR P PR ) R B | PR AP ¥ % el SRR ALY P P S el
[ .
20 p—-fb--o- - - b A A e e g e e e - SRR
= i i
0% 00 120

[CADC RMS for RDO=1,ARM=4,APV=3__}

APV channel

RMS (ADC-ped)

80

60

40

20

Im;

i) |F==cc0005000005000000ap0000000am00000000500|blfscocosc500000000000505am 04

0

SRETTITITITTTIT T T

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

20

i
120
APV channel

= R0 e e T T i o e L LLECE
g =

%) e
9 160 f—

<) =

0 B e N B B R R P
=

o

120

100

80

60

IHi‘I'H T

40

20

—
—
0
0

120
APV channel




run_13064055 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 4 15:42:56 2012
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run_13064055 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13064055 FGT _RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13064055 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 4 15:44:34 2012
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run_13064055 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 4 15:45:13 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Sun Mar 4 15:43:18 2012
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run_13064055 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD

Sun Mar 4 15:44:36 2012
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run_13064055 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 4 15:45:14 2012
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run_13064055 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 4 15:43:22 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 4 15:45:16 2012
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run_13064055 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC

Sun Mar 4 15:43:24 2012
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run_13064055 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 4 15:44:37 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 4 15:45:16 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 4 15:43:29 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 4 15:45:17 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 4 15:43:32 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Sun Mar 4 15:43:53 2012
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run_13064055 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 4 15:44:45 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 4 15:45:24 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Sun Mar 4 15:43:57 2012
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run_13064055 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD

Sun Mar 4 15:44:46 2012
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run_13064055 FGT RMS 1,Timebin=2,Disc=4,asmb=4CD
Sun Mar 4 15:45:25 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Sun Mar 4 15:43:59 2012
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run_13064055 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD
Sun Mar 4 15:44:46 2012
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run_13064055 FGT RMS 1,Timebin=2,Disc=4,asmb=4CD
Sun Mar 4 15:45:25 2012
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run_13064055 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Sun Mar 4 15:44:04 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=5,asmb=5BC
Sun Mar 4 15:45:27 2012
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run_13064055 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Sun Mar 4 15:44:05 2012
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run_13064055 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Sun Mar 4 15:44:48 2012
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run_13064055 FGT _RMS 1,Timebin=2,Disc=5,asmb=5BC

Sun Mar 4 15:45:27 2012
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run_13064055 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Sun Mar 4 15:44:10 2012
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run_13064055 FGT MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Mar 4 15:44:49 2012
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run_13064055 FGT RMS 1,Timebin=2,Disc=5,asmb=5CD
Sun Mar 4 15:45:28 2012
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